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Question Id : 9209064655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage and author the next five questions by choosing correct option.

Sam path G.

Podcast journalism is a recent phenomenon. Most, if not all, of the would have received no
formal training in it. As one the hosts of InFocus, The Hindu's flagship podcast series on
current affairs, I've had people frequently ask me how I go about doing things. When I try to
explain, often the first thing I hear is, “Oh, so you do audio interviews.” Well, not exactly.

There are different kinds of podeasts, and the interview - with a subject expert. It is also true
it is done exclusively in audio format — there is no video element and the transecript dosn't
published in print or online .But journalistically speaking, the podeast ‘interview’ is quite
different from the traditional ‘media’ interview as we know and practice it.

First, the two have different objectives. The purpose of the media interview is to generate
compelling copy — and perhaps a sensational headline — for the publication. The objective of
InFocus is to explain or explore a complicated or interesting news development.

Second, unlike the traditional interview, the podeast is a collaboration between interview and
interviewee. [ did Nuri areas or interview before I did a single podeast. In all of them, I just
had to show up and start shooting questions while a Dictaphone recorded the answers. [ did
not have to do anything other than try and ensure that my questions were answered without
evasiveness or prevarication. [t was a slightly adversarial relationship though one always
tried to keep things cordial .But a podcast interview is a partnership between the journalist
{host), and in the case of InFocus, the expert (guest). We share the common objective of
decoding a complex subject, which brings us to the third difference: [ would tell the guest in
advance about my line of questioning so she can prepare. [ would never do this in a
traditional interview.

Fourth, in a podeast, the journalist is also a moderator. Among other things, it is my job
guickly create a relaxed environment son that the guest (who may have never done a podeast
before) is at ease, introduce the topic, steer the conversation smoothly from sub-theme to
subtheme with appropriate transitions, and tie it all together interview, when you have asked
your last question, you don't summaries — you switch off the Dictaphone and take your leave.

Explainer podcasts such as InFocus also differ from media interview with regard to the
magnitude of research involved. Most often, a journalist typically interview people from his
beat or in connection with his beat. So, there iz already familiarity with the interviewee
and/or the subject of the questions. If research is needed, it is specific to the news context
(say, an election) or the person (if it's for a profile). But in a podeast series where each episode
is on a completely different topic, the interview calls for three different levels of research: one,
to familiarize yourself with the subject along with the latest developments s0 as to come up
with engaging questions; two, search for the most appropriate (and available) expert; and
three, to Summaries yourself with the guest's work and special interests.

Finally, podcast interviews have a whole new tech dimension to them — using the right
microphone, mixing separate audio tracks, ete. — that is missing from the traditional
interview. Overall though the podcast iz more demanding, it is also in some ways less
stressful and uniquely rewarding insofar as it's a collaborative exercise that orchestrates a
convivial, intimate space between three curious mind — the host, the guest and the listener.

Sub questions



Question Number : 1 Question Id : 9209064656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A podeast Journalism essentially -

(A) explores complicated issues

(B) generates a compelling story

(C) puts the interviewer in an adversarial position.
(D) puits the interviewer in an adversarial position.

(E) demandas an indepth research.

Choses the correct answer from the options Gien Bellow :

(1) (C). (D), (E)
(2) (A), (D), (E)
(:3) (A), (B), (C)
(4) (B). (C), (D)

Options :

92090618401. 1
92090618402. 2
92090618403. 3
92090618404. 4

Question Number : 2 Question Id : 9209064657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Another term used for Podeast Journalism is the passage is:

(1) Orchestra (2) Flagship
(3) Media (4) Explainer
Options :

92090618405. 1
92090618406. 2
92090618407. 3
92090618408. 4

Question Number : 3 Question Id : 9209064658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A podeast Journalist is essentially a musician as he

(1) write a piece of music for his quests

(2) coordinates with tech department

(3) creates happy space for his quests

(4) arranges all aspects in harmonium manner
Options :

92090618409. 1
92090618410. 2
92090618411. 3
92090618412. 4

Question Number : 4 Question Id : 9209064659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the use of the word ‘Beat’ in list with its function in list II;

List [ List II

(A) A  Journalist typically (I) Adjective
interviews people from his
best....."

(B) After working for four hours (II) Verb
is the gander the dead beat.

(C) The steady beat of drum (III) Noun
early morning annoying

(D) She was beating the dust (IV) Noun
out of the carpet.

Choose the correct answer from the options given below:

(1) (A)-(1). (B)-(1I1). (O)-(IIT), (D)-(IV')
(2) (A)-(IV), (B)-( 1), (C)-( LT ), (D)-(IT)
(3 (A)-( IIL ), (B)-( IV ), (C)-( II ), (D)-( I)
(4)  (A-(II), (B)-(II1), (C)-(IV ). (D)-(I)

b =

Options :

92090618413. 1
92090618414. 2
92090618415. 3
92090618416. 4

Question Number : 5 Question Id : 9209064660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T :
List I List IT
(A) Prevarication (Ii  Involving conflict or opposition
(BY Adversarial (I To arrange carefully far
desired result
()  Corrival (IIT) To speak in a miskading was
(D} Orchestrate (IV) Chareful end friendly

Choose the correct answer from the options given below:

(1) (A)-(I). (B)-(II), (C)-( 11 ), (D)-(IV')
(2) (A)-(I1), (B)-( IIT ), (C)-( IV ), (I)-( I )
() (A)-(II ). (B)-( 1), (C)-(IV ), (D)-( 1T)
(4) (A)-( IV ), (B)-( 1), (C)-( III ), (D)-(I)

Options :

92090618417. 1
92090618418. 2
92090618419. 3
92090618420. 4

Question Id : 9209064655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage and author the next five questions by choosing correct option.

Sam path G.

Podcast journalism is a recent phenomenon. Most, if not all, of the would have received no
formal training in it. As one the hosts of InFocus, The Hindu's flagship podcast series on
current affairs, I've had people frequently ask me how I go about doing things. When I try to
explain, often the first thing I hear is, “Oh, so you do audio interviews.” Well, not exactly.

There are different kinds of podeasts, and the interview - with a subject expert. It is also true
it is done exclusively in audio format — there is no video element and the transecript dosn't
published in print or online .But journalistically speaking, the podeast ‘interview’ is quite
different from the traditional ‘media’ interview as we know and practice it.

First, the two have different objectives. The purpose of the media interview is to generate
compelling copy — and perhaps a sensational headline — for the publication. The objective of
InFocus is to explain or explore a complicated or interesting news development.

Second, unlike the traditional interview, the podeast is a collaboration between interview and
interviewee. [ did Nuri areas or interview before I did a single podeast. In all of them, I just
had to show up and start shooting questions while a Dictaphone recorded the answers. [ did
not have to do anything other than try and ensure that my questions were answered without
evasiveness or prevarication. [t was a slightly adversarial relationship though one always
tried to keep things cordial .But a podcast interview is a partnership between the journalist
{host), and in the case of InFocus, the expert (guest). We share the common objective of
decoding a complex subject, which brings us to the third difference: [ would tell the guest in
advance about my line of questioning so she can prepare. [ would never do this in a
traditional interview.

Fourth, in a podeast, the journalist is also a moderator. Among other things, it is my job
guickly create a relaxed environment son that the guest (who may have never done a podeast
before) is at ease, introduce the topic, steer the conversation smoothly from sub-theme to
subtheme with appropriate transitions, and tie it all together interview, when you have asked
your last question, you don't summaries — you switch off the Dictaphone and take your leave.

Explainer podcasts such as InFocus also differ from media interview with regard to the
magnitude of research involved. Most often, a journalist typically interview people from his
beat or in connection with his beat. So, there iz already familiarity with the interviewee
and/or the subject of the questions. If research is needed, it is specific to the news context
(say, an election) or the person (if it's for a profile). But in a podeast series where each episode
is on a completely different topic, the interview calls for three different levels of research: one,
to familiarize yourself with the subject along with the latest developments s0 as to come up
with engaging questions; two, search for the most appropriate (and available) expert; and
three, to Summaries yourself with the guest's work and special interests.

Finally, podcast interviews have a whole new tech dimension to them — using the right
microphone, mixing separate audio tracks, ete. — that is missing from the traditional
interview. Overall though the podcast iz more demanding, it is also in some ways less
stressful and uniquely rewarding insofar as it's a collaborative exercise that orchestrates a
convivial, intimate space between three curious mind — the host, the guest and the listener.

Sub questions



Question Number : 1 Question Id : 9209064656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A podeast Journalism essentially -

(A) explores complicated issues

(B) generates a compelling story

(C) puts the interviewer in an adversarial position.
(D) puits the interviewer in an adversarial position.

(E) demandas an indepth research.

Choses the correct answer from the options Gien Bellow :

(1) (C). (D), (E)
(2) (A), (D), (E)
(:3) (A), (B), (C)
(4) (B). (C), (D)

Options :

92090618401. 1
92090618402. 2
92090618403. 3
92090618404. 4

Question Number : 2 Question Id : 9209064657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Another term used for Podeast Journalism is the passage is:

(1) Orchestra (2) Flagship
(3) Media (4) Explainer
Options :

92090618405. 1
92090618406. 2
92090618407. 3
92090618408. 4

Question Number : 3 Question Id : 9209064658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A podeast Journalist is essentially a musician as he

(1) write a piece of music for his quests

(2) coordinates with tech department

(3) creates happy space for his quests

(4) arranges all aspects in harmonium manner
Options :

92090618409. 1
92090618410. 2
92090618411. 3
92090618412. 4

Question Number : 4 Question Id : 9209064659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the use of the word ‘Beat’ in list with its function in list II;

List [ List II

(A) A  Journalist typically (I) Adjective
interviews people from his
best....."

(B) After working for four hours (II) Verb
is the gander the dead beat.

(C) The steady beat of drum (III) Noun
early morning annoying

(D) She was beating the dust (IV) Noun
out of the carpet.

Choose the correct answer from the options given below:

(1) (A)-(1). (B)-(1I1). (O)-(IIT), (D)-(IV')
(2) (A)-(IV), (B)-( 1), (C)-( LT ), (D)-(IT)
(3 (A)-( IIL ), (B)-( IV ), (C)-( II ), (D)-( I)
(4)  (A-(II), (B)-(II1), (C)-(IV ). (D)-(I)

b =

Options :

92090618413. 1
92090618414. 2
92090618415. 3
92090618416. 4

Question Number : 5 Question Id : 9209064660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T :
List I List IT
(A) Prevarication (Ii  Involving conflict or opposition
(BY Adversarial (I To arrange carefully far
desired result
()  Corrival (IIT) To speak in a miskading was
(D} Orchestrate (IV) Chareful end friendly

Choose the correct answer from the options given below:

(1) (A)-(I). (B)-(II), (C)-( 11 ), (D)-(IV')
(2) (A)-(I1), (B)-( IIT ), (C)-( IV ), (I)-( I )
() (A)-(II ). (B)-( 1), (C)-(IV ), (D)-( 1T)
(4) (A)-( IV ), (B)-( 1), (C)-( III ), (D)-(I)

Options :

92090618417. 1
92090618418. 2
92090618419. 3
92090618420. 4

Sub-Section Number : 2
Sub-Section Id : 920906150
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a film is a hit, the producer

(1) Goes for the Jugular
(2) Palls someone's leg
(3) Laughs all the way to the bank

Y Be in two minds

Options :

92090618421. 1
92090618422. 2
92090618423. 3
92090618424. 4



Question Number : 6 Question Id : 9209064661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a film is a hit, the producer

(1) Goes for the Jugular
(2) Palls someone’s leg
(3 Laughs all the way to the hank

i(4) Be in two minds

Options :

92090618421. 1
92090618422. 2
92090618423. 3
92090618424. 4

Question Number : 7 Question Id : 9209064662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Going to someone very humbly. as it legging as going to someone.

(1) in eahoots (2) upin arms

(3) cap in hand (4) with upon arms
Options :

92090618425. 1
92090618426. 2
92090618427. 3
92090618428. 4

Question Number : 7 Question Id : 9209064662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Going to someone very humbly. as it legging as going to someone.

(1) in eahoots (2) upin arms

(3) cap in hand (4) with upon arms
Options :

92090618425. 1



92090618426. 2
92090618427. 3
92090618428. 4

Question Number : 8 Question Id : 9209064663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Someone 1s “at the end of his'her tether”. They are ( Choose the correct answer ):

(1) no longer involved in the situation

(2) in a seripus situation which will have unpleasant consequences.
(3) desperate; Unable to deal with a difficult situation

(4) being cheated or decided by others.

Options :

92090618429. 1
92090618430. 2
92090618431. 3
92090618432. 4

Question Number : 8 Question Id : 9209064663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Someone is “at the end of his/her tether”. They are ( Choose the correct answer ):

(1) no longer involved in the situation

(2) in a serious situation which will have unpleasant consequences.
(3 desperate; Unable to deal with a difficult situation

(4) heing cheated or decided by others.

Options :

92090618429. 1
92090618430. 2
92090618431. 3
92090618432. 4

Question Number : 9 Question Id : 9209064664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An instrument used for breathing while swimming under water :

(1) Saddle (2) Secarrold
(3) Seam (4) Scuba
Options :

92090618433. 1
92090618434. 2
92090618435. 3
92090618436. 4

Question Number : 9 Question Id : 9209064664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An instrument used for breathing while swimming under water :

(1) Saddle (2) Secarrold
(3) Seam (4) Scuba
Options :

92090618433. 1
92090618434. 2
92090618435. 3
92090618436. 4

Question Number : 10 Question Id : 9209064665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chose the correctly spelt word from the given options:

(1) BAALISTIC (2) BALESTIC
(3) BALISTSIC (4) BALLISTIC
Options :

92090618437. 1
92090618438. 2
92090618439. 3
92090618440. 4



Question Number : 10 Question Id : 9209064665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chose the correctly spelt word from the given options:

(1) BAALISTIC (2) BALESTIC
(3) BALISTSIC (4) BALLISTIC
Options :

92090618437. 1
92090618438. 2
92090618439. 3
92090618440. 4

Question Number : 11 Question Id : 9209064666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ravi and Rohan invested ¥18,000 and % 72,000 respectively in a business. Find the ratio of
these shares in the Profits.

(1) 1:2 2) 1:4
(3) 2:3 (4y 3:6
Options :

92090618441. 1
92090618442. 2
92090618443. 3
92090618444. 4

Question Number : 11 Question Id : 9209064666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ravi and Rohan invested 18,000 and ¥ 72,000 respectively in a business. Find the ratio of
these shares in the Profits.

(1) 1:2 2) 14
(3) 2:3 (4y 3:6
Options :

92090618441. 1
92090618442. 2
92090618443. 3



92090618444. 4

Question Number : 12 Question Id : 9209064667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the circumference of a circle iz equal to the perimeter of an equilateral triangle, then the
ratio of their area is:

() 327 @ x:243
3 2r:B @ 33:r
Options :

92090618445. 1
92090618446. 2
92090618447. 3
92090618448. 4

Question Number : 12 Question Id : 9209064667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the circumference of a circle is equal to the perimeter of an equilateral triangle, then the
ratio of their area is:

(1) B3:2x @ 7:23
3 2r:483 4 33:r
Options :

92090618445. 1
92090618446. 2
92090618447. 3
92090618448. 4

Question Number : 13 Question Id : 9209064668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On simple interest a sum of T 15,800 become ¥ 21725 is 5 years. What rate of interest per
annum was paid?

(1) 6% (2) 6.5%
(3) 7% (4) 7T.5%

Options :

92090618449. 1
92090618450. 2
92090618451. 3
92090618452. 4

Question Number : 13 Question Id : 9209064668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On simple interest a sum of ¥ 15,800 become ¥ 21725 is 5 vears. What rate of interest per
annum was paid?

(1) 6% (2) 6.5%
(3) T% (4) 7.5%
Options :

92090618449. 1
92090618450. 2
92090618451. 3
92090618452. 4

Question Number : 14 Question Id : 9209064669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A shop is having a sale. It sells a notebook marked at ¥50 at a discount of 12% and a pen
marked at ¥ 30 at a discount of 15% Shekhar bought 10 notebooks and 3 pens. How much did
he save due to sale

(1) 2165 (2) T105
(3) % 78.50 (4) ¥ 73.50
Options :

92090618453. 1
92090618454. 2
92090618455. 3
92090618456. 4



Question Number : 14 Question Id : 9209064669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A shop is having a sale. It sells a notebook marked at ¥50 at a discount of 12% and a pen
marked at ¥ 30 at a discount of 15% Shekhar bought 10 notebooks and 3 pens. How much did
he save due to sale

(1) 2165 (2) 105
(3) % 78.50 (4) ¥ 73.50
Options :

92090618453. 1
92090618454. 2
92090618455. 3
92090618456. 4

Question Number : 15 Question Id : 9209064670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 men and 4 women can earn ¥ 3,780 in 7 days. 11 men and 13 women can earn % 15,040 in 8
days. How many days will 7 men and 9 women earn ¥ 12400

() 10 (2) 20
(3 15 (4) 25

Options :

92090618457. 1
92090618458. 2
92090618459. 3
92090618460. 4

Question Number : 15 Question Id : 9209064670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 men and 4 women can earn ¥ 3,780 in 7 days. 11 men and 13 women can earn ¥ 15,040 in 8
days. How many days will 7 men and 9 women earn ¥ 12400

() 10 (2) 20
(3 15 (4)

]

b



Options :

92090618457. 1
92090618458. 2
92090618459. 3
92090618460. 4

Question Number : 16 Question Id : 9209064671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ‘Banana’ is known as ‘butter’, butter is known as ‘Soap’, ‘soup is known as ‘honey’, then
which of the following will be used for washing clothes?

(1) Butter (2) Ink
(3) Honey {(4) Banana
Options :

92090618461. 1
92090618462. 2
92090618463. 3
92090618464. 4

Question Number : 16 Question Id : 9209064671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I[f ‘Banana’ is known as ‘butter’, butter is known as ‘Soap’, ‘soup is known as ‘honey’, then
which of the following will be used for washing clothes?

(1) Butter (2) Ink
(3) Honey {(4) Banana
Options :

92090618461. 1
92090618462. 2
92090618463. 3
92090618464. 4

Question Number : 17 Question Id : 9209064672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If Kumar ig the brother of Renu. Parsanna is the sister of Kumar. Tannu is the brother of
Somya and Somya is the daughter of Renu what is the relationship between kumar and
Tannu?

(1) Uncle and nephew (2) Cousins
(3) Nephew and Aunt {(4) Brother - sister
Options :

92090618465. 1
92090618466. 2
92090618467. 3
92090618468. 4

Question Number : 17 Question Id : 9209064672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Kumar is the brother of Renu. Parsanna is the sister of Kumar. Tannu is the brother of
Somya and Somyva is the daughter of Henu what is the relationship between kumar and
Tannu?

(1) Uncle and nephew (2) Cousins
(3) Nephew and Aunt {(4) Brother - sister
Options :

92090618465. 1
92090618466. 2
92090618467. 3
92090618468. 4

Question Number : 18 Question Id : 9209064673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the following Question on the basis of the given statement and conclusion.

Statement : Some bags are pockets
No pocket is a pouch
Conclusions 1 — No bag iz a pouch.
IT — Some hags are not pouch.
ITT — Some pockets are hags.

IV — No pocket is a bag
In the light of the above statements, choose the correct answer from the options given below :

(1) Only (I) follower

(2) Only (IT) and (IIT) follower

(3) Only (I) and (III) follower

(4) Only either (I} or (IV) follower

Options :

92090618469. 1
92090618470. 2
92090618471. 3
92090618472. 4

Question Number : 18 Question Id : 9209064673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the following Question on the basis of the given statement and conclusion.

Statement : Some bags are pockets
No pocket is a pouch
Conclusions 1 — No bag iz a pouch.
IT — Some hags are not pouch.
ITT — Some pockets are hags.

IV — No pocket is a bag
In the light of the above statements, choose the correct answer from the options given below :

(1) Only (I) follower

(2) Only (IT) and (IIT) follower

(3) Only (I) and (III) follower

(4) Only either (I} or (IV) follower

Options :

92090618469. 1
92090618470. 2
92090618471. 3
92090618472. 4

Question Number : 19 Question Id : 9209064674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and the following assumptions and decide which of the assumptions
is implicit in the statement.

Statement : His recent investment in the shares of company XYZS’ is only a gamhle.
Assumption I. He may incur loss on his investment

I1. He may gain from his investment.
In the light of the above statements. choose the correct answer from the options given below :

(1) If only assumption (I) is implicit
(2) If only assumption (II) is implicit
(3) If either (I) or (II) is implicit
(4) It both (I) and (II) is implicit.
Options :
92090618473. 1
92090618474. 2

92090618475. 3
92090618476. 4

Question Number : 19 Question Id : 9209064674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and the following assumptions and decide which of the assumptions
is implicit in the statement.

Statement : His recent investment in the shares of company XYZS’ is only a gamhle.
Assumption I. He may incur loss on his investment

I1. He may gain from his investment.
In the light of the above statements. choose the correct answer from the options given below :

(1) If only assumption (I) is implicit

(2) If only assumption (II) is implicit

(3) If either (I) or (II) is implicit

(4) It both (I) and (II) is implicit.
Options :

92090618473. 1
92090618474. 2



92090618475. 3
92090618476. 4

Question Number : 20 Question Id : 9209064675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next term of the series: 1. 3, 6, 18, 36, 108 ?

(1) 210 (Z) 212
(3) 214 (4) 216
Options :

92090618477. 1
92090618478. 2
92090618479. 3
92090618480. 4

Question Number : 20 Question Id : 9209064675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next term of the series: 1, 3, 6, 18, 36, 108 ?

(1) 210 (Z) 212
(3) 214 (4) 216
Options :

92090618477. 1
92090618478. 2
92090618479. 3
92090618480. 4

Question Number : 21 Question Id : 9209064676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By which constitutional Amendment, Delhi was given a Legislative Assembly?

(1) 65t Amendment (2) 69" Amendment

(3) 72t Amendment (4) T6Hm Amendment

Options :



92090618481. 1
92090618482. 2
92090618483. 3
92090618484. 4

Question Number : 21 Question Id : 9209064676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By which constitutional Amendment, Delhi was given a Legislative Assembly?

(1) 650 Amendment (2) 690 Amendment
(3) T2th Amendment (4) 76" Amendment
Options :

92090618481. 1
92090618482. 2
92090618483. 3
92090618484. 4

Question Number : 22 Question Id : 9209064677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List IT
Upaveda of Deals with
(A) Yajurveda (i) Medicine

(B) Samaveda (I Art of warfare
(C) Atharvaveda (IIT) Art and music
(I Rigveda (IV) Architecture

Choose the correct answer from the options given below:

) (A)-(1I), (B)-(III), (C)-(I), (D-(1IV)

) (A)-(II ), (B)-(IIT ), (C)-(1IV ), (D)( 1)
(3) (A)-(IIT), (B)-(II), (O)-(IV ), (D)-( 1)

) (A)-(IV), (B)-(I). (C)-(IV ), (D)-( 1T )

Options :
92090618485. 1
92090618486. 2



92090618487. 3
92090618488. 4

Question Number : 22 Question Id : 9209064677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List I1
Upaveda of Deals with
(A) Yajurveda (i) Medicine

(B) Samaveda (I Art of warfare
(C) Atharvaveda (IIT) Art and music
(I Rigveda (IV) Architecture

Choose the correct answer from the options given below:

) (A)-(IL), (B)-( 1), (O)-(1), (D)-(IV)

) (A)-(IL), (B)-(IIT ), (C)-(IV ). (D)-( 1)
(3) (A)-(IIT), (B)-(II), (O)-(IV ), (D)-( 1)

) (A)-(IV), (B)-(I). (C)-(IV ), (D)-( 1T )

Options :

92090618485. 1
92090618486. 2
92090618487. 3
92090618488. 4

Question Number : 23 Question Id : 9209064678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chemical name of laughing gas is

(1) Nitrogen dioxide (2) Nitric oxide
(3) Nitrogen peroxide (4) Nitrous oxide

Options :

92090618489. 1
92090618490. 2
92090618491. 3
92090618492. 4



Question Number : 23 Question Id : 9209064678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chemical name of laughing gas is

(1) Nitrogen dioxide (2) Nitric oxide
(3 Nitrogen peroxide (4) Nitrous oxide
Options :

92090618489. 1
92090618490. 2
92090618491. 3
92090618492. 4

Question Number : 24 Question Id : 9209064679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Governor of Reserve Bank of India in Jan 2023 was:

(1) Shashi Kanta Das (2) Urjit Patel
(3) D. Subbaro (4) Raghu ram Rajan
Options :

92090618493. 1
92090618494. 2
92090618495. 3
92090618496. 4

Question Number : 24 Question Id : 9209064679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Governor of Reserve Bank of India in Jan 2023 was:

(1) Shashi Kanta Das (2) Urjit Patel
(3 D. Subbaro (4) Raghu ram Rajan
Options :

92090618493. 1
92090618494. 2
92090618495. 3
92090618496. 4



Question Number : 25 Question Id : 9209064680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The summer 2024 summer Olympic Games will be hosted by

(1) Tokyo (2) Los Angeles
(3 Paris (4) Rome
Options :

92090618497. 1
92090618498. 2
92090618499. 3
92090618500. 4

Question Number : 25 Question Id : 9209064680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The summer 2024 summer Olympic Games will be hosted by

(1) Tokyo (2) Los Angeles
(3 Paris (4) Rome
Options :

92090618497. 1
92090618498. 2
92090618499. 3
92090618500. 4

Part B: Dairy Technology

Section Id : 92090694
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 920906151



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209064681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milk becomes property of buyers once

(1) The transport truck reaches the plant
(2) It 18 loaded on the transport truck at the farm
(3) The transport truck leaves the farm

(4) It iz unloaded in the processors

Options :

92090618501. 1
92090618502. 2
92090618503. 3
92090618504. 4

Question Number : 26 Question Id : 9209064681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
24 @GR D1 HUfl & Il 8, 5d UhaR :

(1) 98T YU de Ugddi g (2) IH R U8 984 TP | dIal Sl §
(3) dgdcd B 3§ Fdd ST 8 (4) SuieE ¥ og @l far S g

Options :

92090618501. 1
92090618502. 2
92090618503. 3
92090618504. 4

Question Number : 27 Question Id : 9209064682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Purely Indian breed of sheep is
(1) Hisardale (2) Nilgiri

(3 Merino (4) Magra



Options :

92090618505. 1
92090618506. 2
92090618507. 3
92090618508. 4

Question Number : 27 Question Id : 9209064682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Bl Yg URIF T &

() feursw 2 R
(3) WA (4) T
Options :

92090618505. 1
92090618506. 2
92090618507. 3
92090618508. 4

Question Number : 28 Question Id : 9209064683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BVD stand for

(1) Boring Viral Disease (2)  Bovine Viral Dizsease
(3 Bovine Viral Dumbness (4) Bovine Viral Diarrohea
Options :

92090618509. 1
92090618510. 2
92090618511. 3
92090618512. 4

Question Number : 28 Question Id : 9209064683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d 9 S evD) FTRTAH B

() SR aRd Sl (2) darsA IEd e
(3) @413 9Ed S99 4) daE- dald SraRan
Options :

92090618509. 1
92090618510. 2
92090618511. 3
92090618512. 4

Question Number : 29 Question Id : 9209064684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milk fever 1z a disease of cattle which i1z caused due to deficiency of

(1) Caleium (2) Tron
(3 Magnesium 4y Zinc
Options :

92090618513. 1
92090618514. 2
92090618515. 3
92090618516. 4

Question Number : 29 Question Id : 9209064684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g™ SR HATRA & diHRl g o &I HH I el &
(1)  Hicay 2) S
3)  AifREm @ fore
Options :

92090618513. 1
92090618514. 2
92090618515. 3
92090618516. 4

Question Number : 30 Question Id : 9209064685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The percentage of fat inwhole milk when compared to dry matter is :

(1) 73% (2)

]

%

(3) 38% (4)  46%

Options :

92090618517. 1
92090618518. 2
92090618519. 3
92090618520. 4

Question Number : 30 Question Id : 9209064685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9rsh gt o1 e dgul g & a9 3t uiawrd A€

(1) 73% (2) 25%
(3) 38% (4) 46%
Options :

92090618517. 1
92090618518. 2
92090618519. 3
92090618520. 4

Question Number : 31 Question Id : 9209064686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion (A) and the other 13 labelled as

Reason (R) :

Assertion (A) . Bactofugation 15 a method for removing bacteria from milk by centrifugal
process.
Reasons (R) : The process was developed by “Monart”, when milk iz centrifugated in

clarifier the bacterial count 1z lowered during first few minutes of operation

and then becomes constant.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A4)
(3) {A) 18 correct but (R) 15 not correct

(4) {A) 15 not correct but (R) is correct

Options :

92090618521. 1
92090618522. 2
92090618523. 3
92090618524. 4

Question Number : 31 Question Id : 9209064686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A @ Fu U U §: U SiflidmuT (Assertion A) & w9 H fafEa § @ g8 SHS SR (Reason R)
& w Y ﬂ;

fimUTA . SaC IR U U §, 3Ucha! Uiohdl g1 g4 ¥ SitaTy] 9 & &l

BRUR ; ag lehal w Al g fafeaa &1 15 O oid gqu @1 Fdas § smdbgur fae
Sl ¢ df dIeH & Ugd o el § Siiarve &1 6. 9 g1 ol ¢ R
fope R 81 9 21

IURIed By & 3l H, A fau e fdsedt § 8 gad Iugad IR &1 994 Sifey
(1) A SRR T8l € SRR A T GE AEN 8

2) A JRRTA TEE AP R AT TS TrEn AE

{

3)  AGEE AT REdAE R
4) ATETEE aPTR TR



92090618521. 1
92090618522. 2
92090618523. 3
92090618524. 4

Question Number : 32 Question Id : 9209064687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Jersey 18 an Indian breed of cow.

Statement 11 - Murrah 1s an Indian breed of cow.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I1 are incorrect
(3) Statement [ 18 correct but statement II 15 incorrect
(4) Statement [ 18 incorrect but statement IT 18 correct

Options :

92090618525. 1
92090618526. 2
92090618527. 3
92090618528. 4

Question Number : 32 Question Id : 9209064687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & Py feu U &:

HYF| - S T B U URAG T 8 |

HUF 11 TR T B U YR T g

IR HYA F Acie H, < fau 7 famedt 7 F W81 It 901 Fifon

(1) FYFIAR NS T

2) BRI GHT ST &

(3) &Y A ©, dichd FYA Il 3 ©
(4) T A g, AT FUT 11 T ©

Options :

92090618525. 1
92090618526. 2
92090618527. 3
92090618528. 4

Question Number : 33 Question Id : 9209064688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bacteria which causes sliminess or ropiness in milk are
(A) Aerobacter aerogens
(B)  Bacterium cloacae
(C) B. subiilis
(D)  Pseudomonas fluorescens

(E)  Achromobacter lipolythilum

Choose the correct answer from the options given below :

(1) (A) only (2)  (A) and (B) only
(3 (C) only (4) (D) and (E) only
Options :

92090618529. 1
92090618530. 2
92090618531. 3
92090618532. 4



Question Number : 33 Question Id : 9209064688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Siam] S g H fatfhedr AR IS[@d $ FRE © -
() WieFe Werd

(B)  SRITNTH AT

© dl Wefed

(D) YSHFTE FIdd

(F) UshiHiadeR ferdiferdgs

g feu mu oot o | W IO @1 99a Sl

(1)  Had (A)
(2)  Had (A) 3 (B)
(3 Pad (O)
(4) &ad (D) AR (E)

e

Options :

92090618529. 1
92090618530. 2
92090618531. 3
92090618532. 4

Question Number : 34 Question Id : 9209064689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT -

List I Last I1
(A)  Dairy rations of lactating cow depends (1) Guernsey
on

(B) Most suitable mode for coneentration (II)  About 38%
of milk

(C) Breed of dairy cow first raised in (III) Season
English channel

(D) Percentage of whole milk fat on the (IV) Ultra filteration
basis of dry matter

Choose the correct answer from the options given below:

(1) (A, (B)-(@V). (C)-(I), (D)-(II)
2y (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)
(3 (A)-ID, (B)-(IID), (C)-(IV), (D)-(I)
(4) (A)-(IV), (B)-(I), (C)-(1T), (D)~(I1I)

Options :

92090618533. 1
92090618534. 2
92090618535. 3
92090618536. 4

Question Number : 34 Question Id : 9209064689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | o Ty g | 61 e Sifeg

-1 gt -l
) PRwRgyd e 3gdmE o T
R HRAT g

() JUD G BT IGY IUGHRI ST ()  THTHI 38%

€ SO T @ ARG @ ugd ) HEH
STIfer=t 9 | uTe gail

D) YF UGS F MR RIQUi g H (v) Sifagen Feiga
a1 i ufcerd

i fgu U fasedl O 9§ gl IR &1 994 Difig:

(1
(2
(3
(4

) (A)-(11), (B)-(IV), (C)-(1), (D)-(11)
) (A)-(1), (B)-(I1), (C)-(1), (D)-(IV)
) (A)-(1), (B)-(111), (C)-(IV), (D)-(1)
) (A)-(IV), (B)-(1), (C)-(1), (D)-(l1)
Options :

92090618533. 1

92090618534. 2

92090618535. 3

92090618536. 4

Question Number : 35 Question Id : 9209064690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

New castle disease 18 also known as :

(1) Malta fever (2)  Milky fever
(3 Ranikhet disease (4)  Yellow fever
Options :

92090618537. 1
92090618538. 2
92090618539. 3
92090618540. 4

Question Number : 35 Question Id : 9209064690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ECRRRUEIRE RIS SIS

(1)  Hieel v (2) Hedbl vl
(3)  YHERET A 4) Uid s
Options :

92090618537. 1
92090618538. 2
92090618539. 3
92090618540. 4

Question Number : 36 Question Id : 9209064691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The form of milk 15 made by the churning of whipping eream is

(1) Cream (2) Butter
(3 Ghee (4) Curd
Options :

92090618541. 1
92090618542. 2
92090618543. 3
92090618544. 4

Question Number : 36 Question Id : 9209064691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUBIUBR O Gl g5 P F AT T ¢ -

(1) @M (2) HIEH
(3 H 4) <ol
Options :

92090618541. 1
92090618542. 2
92090618543. 3
92090618544. 4

Question Number : 37 Question Id : 9209064692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
While some extra-label drugs can be used by food producing animals, others cannot. Which of

the following isare illegal drugs?

(1) Clenbuterol (2)  Pencillin
(3 Tetracycline (4)  Ivomec

Options :

92090618545. 1
92090618546. 2
92090618547. 3
92090618548. 4

Question Number : 37 Question Id : 9209064692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% & O DI 4t srduris aiufd g7

(1) doHeed 2) ufHfaRE
(3) ceuwRiaad (4) TAHD

Options :

92090618545. 1
92090618546. 2
92090618547. 3
92090618548. 4

Question Number : 38 Question Id : 9209064693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Most farm bulk milk tanks are designed for every-other-day (EOD) pick up and must cool 25%

of the volume of the tank to degree F within two hours after milking.

1 25 (2) 45

(3 &0 4y 70

Options :

92090618549. 1
92090618550. 2
92090618551. 3
92090618552. 4



Question Number : 38 Question Id : 9209064693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUFR BTH B, gY & HSR & i-hal g FdTan & 915 31 G2l 31eR Y & 25% HTGad &l
&1 U d efawyg de1 Hi|

(n 25 (2) 45
(3) 60 4 70
Options :

92090618549. 1
92090618550. 2
92090618551. 3
92090618552. 4

Question Number : 39 Question Id : 9209064694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Bob Cock test 18 rapid, simple and accurate test for

(1) Water in milk (2) Titrable acidity
(3) Fat content (4) Non fat solid content
Options :

92090618553. 1
92090618554. 2
92090618555. 3
92090618556. 4

Question Number : 39 Question Id : 9209064694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FigeId URI&0T TP, HIURUN 3R fags adem § & fem)

() gUHATE (2) SIHIUS ATl
(3) GBI HE @) TR U 3™ °E
Options :

92090618553. 1



92090618554. 2
92090618555. 3
92090618556. 4

Question Number : 40 Question Id : 9209064695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reaszon (R) :

Assertion (A):  Cultured dairy product improves the nutritional value of a human diet.

Reasons (R) : It contains higher levels of vitamin B and certain free amino acids.

In the light of the above Statements, choose the correct answer from the options given below ;

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) 15 false

(4) {A) 12 false but (R) 18 true

Options :

92090618557. 1
92090618558. 2
92090618559. 3
92090618560. 4

Question Number : 40 Question Id : 9209064695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 31 HY= U U §: TP B YA (Assertion A) & EU  H fafEd § O TU 39F SR (Reason R)
aﬂﬂlﬁ;

AiFY A . HaHd ST IUE AT F AER BT Ul 7 §¢1 3d 8
HRUIR : 9H it A A faerfiq &t ofR 2 gad onfiHT o gi1d &
SURIad HYA & Hdis H, A4 G T fasedl # 3 gad Iugad IR $1 997 Sifog
(1)  ASRREH Tl ¢ AR R, A DI T RS 8

(2) ASRREH TEl ¢, Alb- R, A DI Ugl AT T8l §

3) AWEIE AfFARIT AT
4) ATETEE afPTRTTIE
Options :

92090618557. 1

92090618558. 2

92090618559. 3
92090618560. 4

Question Number : 41 Question Id : 9209064696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement I : Sterlised milk is free from miero organisms harmful for consumer.

Statement 11 : Sterlised milk 18 homogenized milk.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I are mmecorrect

(3) Statement [ 18 correct but statement I is incorrect

(4) Statement [ 15 incorrect but statement 11 i1s correct
Options :

92090618561. 1
92090618562. 2
92090618563. 3



92090618564. 4

Question Number : 41 Question Id : 9209064696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁa’lgﬂmﬁu T §: U@ SHIUHYA (Assertion A) & &0 T fATREd & o GERT 3% BRI (Reason R)
U,

Ay A . FoHied gy e Siidl J Yo g1l 8, Sl UM & e giFeRS g1 €1
HRUIR: Foiied g THified gU B |
TURTd YA & Hdld F, wiid U 7Y fadheul O 8 998 Jugad IR &1 994 BTy

(1)  ARREH eI 8 3R R AT TS AT &

(2)  ASIRRTH Tl € dfd R, A DI Uel ST 781 §
3) ATHE AfFTRTF TSR

(4)  AWEITEl g b R UG &

Options :

92090618561. 1
92090618562. 2
92090618563. 3
92090618564. 4

Question Number : 42 Question Id : 9209064697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Factors affecting on richness of cream 1s/are :
(A)  Speed of bowl

(B) Temperature of milk

(C)  Amount of flushing

(Db  Rate of inflow

(E). Cream screw

Choose the correct anawer from the options given below :

(1) (A) only (2) (A)and (B) only
(3) (A), (B) and (C) only (4) (A), (B), (C) (D) and (E) only

Options :



92090618565. 1
92090618566. 2
92090618567. 3
92090618568. 4

Question Number : 42 Question Id : 9209064697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1Y B TR0 &1 UHIdd H a8 SRS 8/8 :
(&) €39 DI A

(B) QY P AGHM

(C) YT DI HEAT

(D) Sicafg F1 R

(£ ®HE

< feu v faswed & 9 9 IR &1 984 S :

(1)  dd (A)

(2)  Had (A) 3R (B)

(3)  Fad (A), (B) 3R (C)
(4 (A), (B) (C), (D), (B)

Options :

92090618565. 1
92090618566. 2
92090618567. 3
92090618568. 4

Question Number : 43 Question Id : 9209064698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List I List 11
(A) Combined operation of packing, (I) Clumping

turning, piling and repiling the curd

cubes is
(B) Enzymes rennin and pepsin are the (II) Vitamin Bs
major constituents of

(C) Tendency of fat globules to loosely (III) Cheddaring

adhere to one another to form cluster

(D) Riboflavin (IV) Rennet

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)
(2) (A)-(IID), (B)-(IV), (C)-(D), (D)-(11)
(3) (A)-(II), (B)-(11I), (C)-(I), (D)-(IV)
(4) (A)-(IV), (B)-(111), (C)-(1I), (D)-(I)

Options :

92090618569. 1

92090618570. 2

92090618571. 3
92090618572. 4

Question Number : 43 Question Id : 9209064698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i | & Ty gl 1| B A Hifeg

et et -
(A) TEl DI FgE & UfHT, udea ¥ () WUeH
AT 3R iR &R @1 &1 Saiford
PEIGE]
(B) TWZH YA SR UuRE 39 ) fEeffmdie
TG T g |
(C) TP Toegal DI Uh gER & W1y () S
fage &1 g
(D) 3dITRifaA (v) e
Hid fu e fawedi § O Tel 3 &1 9494 DI
(1) (A)-(), (B)-(11), (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(1V), (C)-(111), (D)-(IN)
(3)  (A)-(), (B)-(N), (C)-(1), (D)-(IV)
(4)  (A)-(V), (B)-(1), (C)-(I), (D)-(1)
Options :

92090618569. 1
92090618570. 2
92090618571. 3
92090618572. 4

Question Number : 44 Question Id : 9209064699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

75% of the rural Indian house holds own, an average of animals.
(1) one to four (2)  two to four
(3 two to five (4) twoto six

Options :

92090618573. 1
92090618574. 2
92090618575. 3
92090618576. 4

Question Number : 44 Question Id : 9209064699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U & 75% UTHI URER 3id SHaR] &1 WA IEd ¢
(1) UHIAEAR 2) TWIER

3) <dduH 4) dUDE
Options :

92090618573. 1
92090618574. 2
92090618575. 3
92090618576. 4

Question Number : 45 Question Id : 9209064700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cows milk contains percent of lactose.

(1) 3 (2 4

on

(3) 4 6
Options :

92090618577. 1

92090618578. 2

92090618579. 3

92090618580. 4

Question Number : 45 Question Id : 9209064700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gy | yfrerd A giell 2

(1 3 2) 4
(3) 5 4 6
Options :

92090618577. 1
92090618578. 2
92090618579. 3
92090618580. 4



Question Number : 46 Question Id : 9209064701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The used to present agitator in milk silo 1s :

(1) Cream separation from gravity
(2) Spoilage
(3) Leakage

(4) Off taste

Options :

92090618581. 1
92090618582. 2
92090618583. 3
92090618584. 4

Question Number : 46 Question Id : 9209064701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g4 & Wrdl § fadie® &1 3udn fvged Farur & o faar s g2

(1) hIH &1 9y §HT o gRI 2) WIEBHI
(3)  Hau (4) 3ffd g
Options :

92090618581. 1
92090618582. 2
92090618583. 3
92090618584. 4

Question Number : 47 Question Id : 9209064702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The application of any effective method to clean the surface for destruction of Pathogene is

called :

(1) Pasteurization (2) High temperature treatment
(3) Sanmitization {4) Cleaning
Options :

92090618585. 1
92090618586. 2
92090618587. 3
92090618588. 4

Question Number : 47 Question Id : 9209064702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁr?ﬁaﬂﬁﬁ?mﬁm’rwmﬁ 3AWART b Fored IFMugaft &1 =11 81 o @,
PRl g :

(1)  UNcRI® (2) 3o d9HH JUER
(3) ERIeI (4) Ui
Options :

92090618585. 1
92090618586. 2
92090618587. 3
92090618588. 4

Question Number : 48 Question Id : 9209064703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Corn silage stored in sealed uprights should be ensilead at :

(1) Less than 40% moisture (2) Less than 50% moisture

(3 Less than 60% moisture {4) Less than 30% moisture

Options :

92090618589. 1
92090618590. 2
92090618591. 3
92090618592. 4



Question Number : 48 Question Id : 9209064703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WGP BT HSRUI ol féh Uadh g "gars # gidl 8, fba-it 1 IR g1 91fgu?

(1)  40%THI 9 &H (2) 50%THI 9 &HH
(3)  60%-H A FH (4) 30%THI 9 HH
Options :

92090618589. 1
92090618590. 2
92090618591. 3
92090618592. 4

Question Number : 49 Question Id : 9209064704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 15 labelled as Assertion (A) and the other 1s labelled as

Reazon (R) :

Agsertion (A) : A frozen dairy product made by the rapid freezing of pasteurized milk 1s
Ice-cream.
Reasons (R) : ioat milk 18 always preferred for Khoa making.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {(A) 18 true but (R) 15 false
(4) {A) 15 false but (R) 18 true
Options :
92090618593. 1
92090618594. 2

92090618595. 3
92090618596. 4

Question Number : 49 Question Id : 9209064704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2 1 FuA U U 7. 0P sifi@uT (Assertion A) & w9 H faf@a § o gH 39S SR (Reason R)
asmff;

HfBY A - %ﬂ%ﬂ@%ﬁﬁ%ﬂﬁm%ﬁﬁﬂmﬁgﬂﬂﬂmﬁm
|

BRUR : Gl 1 & o S84 & gU B Wad Wl &l oidt g
SUed By & et H, A G e fdwed] & | gad Iuged I &1 997 STy

(1) ASRRIF TS E SRR AT T TR B

2)  ASRRSH TS E AP R A T W TEn T R
(3) AWEE bR EE TEI 8

@) ATSHTEE dfFTREE R

e

Options :

92090618593. 1
92090618594. 2
92090618595. 3
92090618596. 4

Question Number : 50 Question Id : 9209064705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Enzymes are chemical substances secreted by living plants and animals
cells.

Statement 11 : Microorganisms produce enzymes which carry out most of the physiological
activities.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement | and Statement I are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement [ is correct but statement I1 iz incorrect

(4) Statement [ is incorrect but statement 11 is correct



Options :

92090618597. 1
92090618598. 2
92090618599. 3
92090618600. 4

Question Number : 50 Question Id : 9209064705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e < Py fRu e B

HU | TTed Sifdd Ured 3R Siq SIRG13{ gRI Afdd TaafAe ugrd g1

BT I - Q%G%amﬁﬁamm%@wmﬁmmw&wﬁa
|

IR HYA & HlellP H, Aid G U famedi 1 I Tl Ioid! 99 DI

(1) ®FIARITHI 9T

(2) Y SR 1IEHT S B

(3) BYF | TA g, Al YA 11 3T §
(4) Y| NI E, AbA YT A

Options :

92090618597. 1
92090618598. 2
92090618599. 3
92090618600. 4

Question Number : 51 Question Id : 9209064706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lamitations of desi method of butter making are :
(A) Smoky smell in butter

(B) Destruction of Vit. C

(C)  Cooked flavor in butter

(I Bacterial count is high

(E). Low keeping quality

Choose the correct answer from the options given below :

(1) (A) only (2) (B)and (D) only
(3) (A), (C) and (D) only (4) (A). (B), (C). (D) and (E)
Options :

92090618601. 1
92090618602. 2
92090618603. 3
92090618604. 4

Question Number : 51 Question Id : 9209064706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&2t faft 9 ARg= §H &1 yorelt 1 Hae § -
(&)  HEET H YfHyd Ty

B e @t &1y g

(C) HaEd § Uh &I gard

(D) wiiaTo3{f &1 3= TMOMAT

) g afRemr qorE

e fou o fawett 9 98 IR o1 9 Sifeg -

(1)  &ad (a)

(2)  Pdd (B) 3R (D)

(3)  Had (A), (C) 3R (D)
(4)  (A), (B), (O, (D), (B)

Options :
92090618601. 1



92090618602. 2
92090618603. 3
92090618604. 4

Question Number : 52 Question Id : 9209064707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last T with List IT :

(A)

(B)

(C)

(D)

Liat 1

Arrangement of cheese cluth before
and after pressing

The delicate flavour of properly made
ripened cream butter

Crystallization of milk sugar or

lactose 1s finished ice-cream

Malnutrition caused due to lack of

protein

List II

(Il Real butter flavour

(II) Sandiness

(IITy Kwashiorkor

(IV) Dressing

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(I), (B)-(1I), (C)~(I1I), (D)-(IV)
(A)-(11L), (B)-(IV), (C)-(1II), (D)-(I)
(A)-(IT), (B)-(ILI), (C)-(IV), (D)-(T)
(A)-(IV), (B)-(I), (C)-(IT), (D)-(11I)

Options :

92090618605. 1
92090618606. 2
92090618607. 3
92090618608. 4

Question Number : 52 Question Id : 9209064707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Ty = 1 F e S

Tt et i

(A) UART 9% @ ogawyl Fdisd ¥ ()  HREd &1 ddidd gard
Ugd 3R WEd

B) IugH 4 ¥ 9 gof fafdua wla gy  XedtemgA
Yo A DI Y&H gard

(€ IR 3139 HH H G IHA YT (1)  HIIRDY
e @I fohtead

(D) WICH & HHI & B HUNI (v) SR

A4 e e fawedt # ¥ |Et I &1 994 Sife

(1) (A)=(1), (B)-(ID), (C)=(1N1), (D)-(IV)
(2) (A=), (B)-(IV), (C)-(11), (D)-()
(3) (A)-(11), (B)-(H1), (C)-(1V), (D)-()
(4) (A}-(IV), (B)-(1), (C)-(11), (D)-(11)

Options :

92090618605. 1
92090618606. 2
92090618607. 3
92090618608. 4

Question Number : 53 Question Id : 9209064708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vear when World Dairy Expo start sponsoring a collegiate judging contest is

(1) 1948 (2) 1958
(3) 1968 (4) 1978
Options :

92090618609. 1
92090618610. 2
92090618611. 3
92090618612. 4

Question Number : 53 Question Id : 9209064708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I 9 oy H 3y 378 vaydl A Sifcfoe Wi uiadifiar &t ukisdd o Toaird @i

(1) 1948 (2) 1958
(3) 1968 (4) 1978
Options :

92090618609. 1
92090618610. 2
92090618611. 3
92090618612. 4

Question Number : 54 Question Id : 9209064709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one having largest particle size in milk :

(1) Lactose (2) Casein Micelles
(3) Fat globules (4) Minerals
Options :

92090618613. 1
92090618614. 2
92090618615. 3
92090618616. 4

Question Number : 54 Question Id : 9209064709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oo # (5 T ¥ 5ad &1 &1 PR 9ad 961 57

(1) ddem (2) HUH P g
(3) 99 & Tdlegd (4 @9
Options :

92090618613. 1
92090618614. 2
92090618615. 3
92090618616. 4

Question Number : 55 Question Id : 9209064710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Milk protein allergies generally oceurs only in infants and is usually outgrown by

(1) 4 months of age (2) 16 months of age

(3) 24 months of age (4) 36 months of age

Options :

92090618617. 1
92090618618. 2
92090618619. 3
92090618620. 4

Question Number : 55 Question Id : 9209064710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y WIS @ Uersll iR Rl # gl 8 ok urg: Fufdifed oy 9 siftges 81 o & -

(1) 4HgH 2 16 HgH
(3) 24WgH 4) 36WeH

Options :

92090618617. 1
92090618618. 2
92090618619. 3
92090618620. 4

Question Number : 56 Question Id : 9209064711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Selected dairy products” which has greatest production in India :

(1) Butter i2) Non fat dry milk

(3) Curd (4) Yoghurt

Options :

92090618621. 1
92090618622. 2
92090618623. 3
92090618624. 4

Question Number : 56 Question Id : 9209064711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fau v T 39X IAR § § HRA H [hU®! Idgd Jay 3 g7

(1)  HIFEd (2) feraw & gsp gy
(3)  Gol (4) Tnfe
Options :

92090618621. 1
92090618622. 2
92090618623. 3
92090618624. 4

Question Number : 57 Question Id : 9209064712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maximum fat percentage is found in the milk of

(1) Jafarabadi 2y MNilh
(3 Magpuri {4y Bhadawari
Options :

92090618625. 1
92090618626. 2
92090618627. 3
92090618628. 4

Question Number : 57 Question Id : 9209064712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g & 991 &1 gad 3ifde wlawrd A gidl 87

(1) CIBErg! 2 fAfe
(3)  ANTYRE (4) HIGIARI
Options :

92090618625. 1
92090618626. 2
92090618627. 3
92090618628. 4



Question Number : 58 Question Id : 9209064713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R)
Assertion (A) : Lactose is present in the milk in the form of true solution.
Reaszons (R) : The average lactose content of cow and buffalo milk i1z 4.5 and 4.8%

respectively.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) {A) 13 true but (R) is false

(4) (A) 18 false but (R) 15 true

Options :

92090618629. 1
92090618630. 2
92090618631. 3
92090618632. 4

Question Number : 58 Question Id : 9209064713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 = U 1T §: Uw YA (Assertion A) & ¥4 T fafGd g dl gEY 3HP BRI (Reason R)
ﬁFﬂﬁ;

AYFYTA: W g H faeied & ©9 H IURRyd 8l 87
HRUR; T 3R 49 & g0 T 3d ey &1 0E HHY: 4.5% AR 4.8% 8
IR YT & HTdld §, i AU 70 fdpedl § 9 964 Iugad I &1 994 Hifoy

(1) ASRRGH Holg AR R AT U AT ©
(2) ANRREH U g Afb R A DI Tl ARSN Tel &
(3) AWEE AGIRES T
(4) ATITEE ABFTRIG T

Options :



92090618629. 1
92090618630. 2
92090618631. 3
92090618632. 4

Question Number : 59 Question Id : 9209064714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : Vitamin A 15 good for evesight.

Statement 11 : Vitamin B is good for general health.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement 1 and Statement I1 are correct

(2) Both Statement I and Statement I1 are incorrect

(3 Statement I 15 correct but statement I 18 incorrect

(4) Statement [ 15 incorrect but statement 11 is correct
Options :

92090618633. 1
92090618634. 2
92090618635. 3
92090618636. 4

Question Number : 59 Question Id : 9209064714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i & P feu MU B:

Py | - eI U A & g STn 8|

e || ; fderfeF o 9 W & i ST |

IR HYA & Telid H, Aird 40 70 fadmedi H I Tl ST 9894 Difeg

(1)  HUFIARNEAI T g

(2)  HYF SRS I §

(3) @Y TA g, dide &Y Il 3 ©
(4) HUYF | AHTA g, Afhd U 11 TT ©

Options :

92090618633. 1
92090618634. 2
92090618635. 3
92090618636. 4

Question Number : 60 Question Id : 9209064715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Factors affecting on quality of ice-cream

(A) Quality of raw material

(B) Storage period of ice-cream

(C) The method of processing the mix involving pasteurization, homogenization, cooling

(D)  Flavouring material and its quality

Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (C) and (E) only
(3) (A) and (C) only (4)  (A), (B), (C), (D) only
Options :

92090618637. 1
92090618638. 2
92090618639. 3
92090618640. 4

Question Number : 60 Question Id : 9209064715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

313 HTH P TUra & U B4 a1d SR Biey|

(A) =] HId Pl O

(B) 3M3Y shIH Bl HSRUI 3fafds

(€ Yo & uehHUr BT yunTe! (Ui, gHiv e, W)

(D) YT ur yery 3R I urdl
i fau v fasedl | 9 T I &1 994 ST :

(1)  @ad (B) R (D)
(2) @ad (C) 3R (D)
(3) a4 (A) AR (Q)
(4 (A), (B (O, (D)

Options :

92090618637. 1
92090618638. 2
92090618639. 3
92090618640. 4

Question Number : 61 Question Id : 9209064716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT -

Liat [ List 11

(4) Flavours similar to stale fat, spapy (I) Malty flavour
taste unclean odours 1s due to

(B) Improper cooling of milk produces (IT) Shelf date
(C) Ewvery other day (EOD) pick up tanks (III) Rancidity
must cool 25% volume of milk to

(D)  Processed milk is fit for consumption (IV) 45°C
upto

Choose the correct answer from the options given below:

(1} (A)-(II), (B)-(I), (C)-(IV), (D)-(11)
2 (AD). (B)-(ID, (C)-(111), (D)-(IV)
(3 (A)-ID, (B)-(IID), (C)-(IV), (D)-(I)
(4) (A)-(IV), (B)-(I1I), (C)-(1I1), (D)-(I)

Options :

92090618641. 1
92090618642. 2
92090618643. 3
92090618644. 4

Question Number : 61 Question Id : 9209064716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & " g 1 T e iy

- = -1l
(A) FHE BRU G T F AN () Wil GdH

a, WEA o W@E, s Y
gt g

(B) gﬂﬁﬁlﬂﬁﬂﬂﬂﬁﬁﬁaﬂﬁm ay et fé=ie
|

(© FH W, Y b 25% MGd- Hl e () fdhd Tifedr
a% cPh del PR 8
(D) %i‘ﬂﬁ]ﬁ@ﬂﬂ:‘rauﬁmsﬂﬁ?rﬁlﬁ (Iv) 45°9.
u

T o T fawedt # 9 98 SW &1 994 P

(1) (A)-(I, (B)-(1), (Q)-(\), (D)-(1N)
(@) (A)-(D), (B)-(1N), (C)-(I), (D)-(1V)
(3)  (A)-(IN), (B)-(Il1), (C)-(1V), (D)-(1)
(4)  (A)-(IV), (B)-(IlL), (C)-(11), (D)-(1)

Options :

92090618641. 1
92090618642. 2
92090618643. 3
92090618644. 4

Question Number : 62 Question Id : 9209064717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The effect of homogenization on the appearance of milk is

(1) Whitish appearance (2) Yellowish appearance
(3) Blackish appearance (4) Dusty appearance
Options :

92090618645. 1
92090618646. 2
92090618647. 3
92090618648. 4

Question Number : 62 Question Id : 9209064717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HHAIHIU BT gY & Uhed IR YHI:

(1)  UbdlUFed (2) Uiel ¥ U
(3) ol 9l uded @) fHd g
Options :

92090618645. 1
92090618646. 2
92090618647. 3
92090618648. 4

Question Number : 63 Question Id : 9209064718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The letters TDN stand for (while evaluating dairy) :

(1) Total Digestive Nutrients (2)  The Dairy Network
(3) Total Diet Needed (4) Tested Digestable Nutrients
Options :

92090618649. 1
92090618650. 2
92090618651. 3
92090618652. 4

Question Number : 63 Question Id : 9209064718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A (1D N) BT YU FU AT §?

() ded SRuid Jfeuey (2 I Ieadh

(3) <led s/e Hifgs 4) ofes SEuikad gfetey
Options :

92090618649. 1
92090618650. 2
92090618651. 3
92090618652. 4



Question Number : 64 Question Id : 9209064719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following produces 85% of world’s milk?

(1) Buffalo 2y Cow
{3 Goat (4) Sheep
Options :

92090618653. 1
92090618654. 2
92090618655. 3
92090618656. 4

Question Number : 64 Question Id : 9209064719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad o @ o1 91 fay &1 85% gl Ide Hdl &7

(1) HY @ T
(3)  EH 4 WS
Options :

92090618653. 1
92090618654. 2
92090618655. 3
92090618656. 4

Question Number : 65 Question Id : 9209064720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not a source of infection in milk?

(1) Latter (2) Milker and cow
(3 Heat (4) Amhient air
Options :

92090618657. 1
92090618658. 2
92090618659. 3



92090618660. 4

Question Number : 65 Question Id : 9209064720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 7 @ D1 W1 g # GhHUl T id g 82

(1)  PS-HAA (2) Tlgd R T
(3) W @) ufvash gar
Options :

92090618657. 1
92090618658. 2
92090618659. 3
92090618660. 4

Question Number : 66 Question Id : 9209064721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toxins are the disintegration products of :

(1) Microorganisms (2) Minerals
(3) Phospholipids (4) Organo metallic compounds
Options :

92090618661. 1
92090618662. 2
92090618663. 3
92090618664. 4

Question Number : 66 Question Id : 9209064721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31y 39 fage1 UG § -

(1) gl 2 @

(3) BRIy @) SOFAea® aiffle
Options :

92090618661. 1



92090618662. 2
92090618663. 3
92090618664. 4

Question Number : 67 Question Id : 9209064722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reason (R) :

Assertion (4): The product obtained by acid coagulation of hot milk and subsequent

drainage of whey is known as khoa.

Reasoms (R) : Channa is used as a base and filler for the preparation of Rasagolla.

In the hight of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 12 true but (R) 15 false

(4) (&) 1s false but (R) is true

Options :

92090618665. 1
92090618666. 2
92090618667. 3
92090618668. 4

Question Number : 67 Question Id : 9209064722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A & Fy fGU U §: U@ i (Assertion A) & ¥ # fafEd § ol g8U IS SN (Reason R)
*F'Jﬂc;

sfiFyA . TH Y P IRAY W R dda ¥4 $ UFl & UdeH (U WK I Bl
WA HEA ¢ |

BRUIR : BT TEIe G4 & g TR 3R R0 & ferg IuanT fovar 9iran g1

FUled By & 3felies H, i fau ¢ fdsed! § 8 94 Iugad I &1 994 Bifeg

(1) A SRRGH Hel g SRR, A D Hel ameT ¢

) A SRR GH Ul &, dfdb R, A D! Tl e el &

(

3) AGSE dfFTrREEAd R
@) AGSTEE dfFTRES R

Tt

Options :

92090618665. 1
92090618666. 2
92090618667. 3
92090618668. 4

Question Number : 68 Question Id : 9209064723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : Lactometer is used to determine viscosity of hiquida.

Statement 11 : Hydrometer is used to determine viscosity of milk.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement 1 and Statement 11 are incorrect
(3 Statement I 15 correct but statement 11 15 incorrect
(4) Statement [ 15 incorrect but statement 11 18 correct

Options :

92090618669. 1
92090618670. 2
92090618671. 3



92090618672. 4

Question Number : 68 Question Id : 9209064723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & FuA U g B

HUF | : WdeHIeR Gdl D WHS J1d HIA & fod JUTT faa i g |
HUF 1 : IS T B WHGHAl 1 B & fere Iudn fawar o g
SURIE HYH & Al H, i 74 7Y faeredt # F |1 Iewet waq Sifon
FY | AR 1 G I ©

1

(1)

(2) Y| ARG AT

(3) HYF I GA g, A BYA Il AT ©

(4) HYTIITAC, APT DU I T ¢
Options :

92090618669. 1
92090618670. 2
92090618671. 3
92090618672. 4

Question Number : 69 Question Id : 9209064724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Disadvantages of homogenization include

(A) Difficult fat separation

(B) Easy digestibility

() Curdling in cooking

()  High cost of milk processing

Choose the correct answer from the options given below :

(1) (B), (C), (D) only (2) (A) & (B) only
(3) (B) and (C) only (4) (A), (C), (D) only
Options :

92090618673. 1



92090618674. 2
92090618675. 3
92090618676. 4

Question Number : 69 Question Id : 9209064724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT & HaTY DIy ;
(A) O B BigA gedio
(B) T e

(C) UPHH Y Hedied gl
(D) ™ & UhHU bl I HA
A= 3T T st o 9 HEt ST &1 99 il

(1)  ®ad (B), (C) 3 (D)

(2) Faa (A) 3N (B)

(3) aa (B) R (C)

(4) I (A), (O AR (D)
Options :

92090618673. 1
92090618674. 2
92090618675. 3
92090618676. 4

Question Number : 70 Question Id : 9209064725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II

(A) Study that deals with the processing (I) Species and breed of animals
of milk and milk products

(B Transfer of carotene from feeds to (II}) Dark condition

milk fat depends

(C) Growth of most of microorganisms (III) Preservative

takes place in

(D) Chemicals which destroys the growth (IV) Dairy technology

of microorganisms

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D). (C)-(II), (D)-(I1T)
(2) (A)-(D), (B)-(ID), (C)-(I1L), (D)-(IV)
(3) (A)-(ID), (B)~(I1I), (C)-(IV). (D)-(D)
(4) (A)-(IID), (B)-(IV), (C)-(1I), (D)-()

Options :

92090618677. 1
92090618678. 2
92090618679. 3
92090618680. 4

Question Number : 70 Question Id : 9209064725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & | G 11 BT e S

-1 It -1l

(A) I O g 3R g JdiGl b () SIFaR] @l olid 3R 9%
UHHY T a7 TEdT g

B) PRI F AR BIS T oy R R
% 991 R 1R e g

© HRFUgEA i Blgle el o) IRREE

(D) TERHE S G&H oidl @1 gfg DI A¥ (v) ST adid
Fd gl

4 fau o fAewedt § | 9gt I &1 904 Fife:

(1)
(2)
(3)
(4)

—

A)-(11), (B)-(1), (C)-(IV), (D)-(11)
A)-(1), (B)-(1), (C)-(lH), (D)-(IV)
A)-(11), (B)-(Il), (C)-(IV), (D)-(1)
A)-(IV), (B)-(1I), (C)-(1), (D)-(1)

— e

Options :

92090618677. 1
92090618678. 2
92090618679. 3
92090618680. 4

Question Number : 71 Question Id : 9209064726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chief type of spoilage in sweetend condensed milk may be :

(1) Gas formation by sucrose fermenting veast
(2) Thickening caused by micrococel

(3) Mold colonies growing on the surface

(4) Count very high bacterial

Options :

92090618681. 1
92090618682. 2
92090618683. 3
92090618684. 4

Question Number : 71 Question Id : 9209064726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

113 Hufd g & TR 811 &1 §8 HRU ¢ -

(1) g @1 [Hvad S ardll de gRI T &1 §941
(2)  WAIZEH! BB GRIMGT G

(3) Hdg W Hdd Hral-dl & die gl

(4)  oifaru]sf St dgd = TOHT

Options :

92090618681. 1
92090618682. 2
92090618683. 3
92090618684. 4

Question Number : 72 Question Id : 9209064727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Source of Maltose enzyme in animal body 1= :

(1) Laver (2) Saliva
(3) Small intestine (4) Pancreas
Options :

92090618685. 1
92090618686. 2
92090618687. 3
92090618688. 4

Question Number : 72 Question Id : 9209064727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Widl & IR A AT TaSH BT Hd ¢

(1 4Pd 2) WR
3) &sH (4) SfEIR™
Options :

92090618685. 1
92090618686. 2



92090618687. 3
92090618688. 4

Question Number : 73 Question Id : 9209064728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Mastitis test appearance with strong gel formation that tends to adhere to paddle and

forms a distinet central peak would have a Leukoeyte count/ml of :

(1) Below 2,00,000 (2) 1,50,000 — 5.00,000
(3) 8,00,000 — 5,00,000 (4)  Above 50,00,000

Options :

92090618689. 1
92090618690. 2
92090618691. 3
92090618692. 4

Question Number : 73 Question Id : 9209064728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARersfed e ude forgd widasned Sid a4dt g ol Ued ¥ faus- & fau ugd gidi @
IR U UME B 9N g1 3, 39 Ad W9 Dirmred ot dem ufd [ goft

(1)  2,00,000 Y FH (2) 1,50,000 9 5,00,000
(3) 800,000 5,00,000 (4) 5,00,000 " FIT

Options :

92090618689. 1
92090618690. 2
92090618691. 3
92090618692. 4

Question Number : 74 Question Id : 9209064729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



is the time after processing during which a dairy product normally remains suitable

for human consumption.

(1) Code date (2)  Product life
(3) Package date (4) Shelf date
Options :

92090618693. 1
92090618694. 2
92090618695. 3
92090618696. 4

Question Number : 74 Question Id : 9209064729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHHY & 9IS & 99 ¢ e IR S8 I IMAIe: AFd IUHT $ fou
S &l ¢ |

O CAGSIED (2) JdIE Bl SlaA
3y e f&Hie @) e e
Options :

92090618693. 1
92090618694. 2
92090618695. 3
92090618696. 4

Question Number : 75 Question Id : 9209064730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The off flavor most likely to be found in milk that has not been cooled properly is :

(1) Sour (2) Rancid
(3 Tangy (4) Bitter
Options :

92090618697. 1
92090618698. 2
92090618699. 3
92090618700. 4



Question Number : 75 Question Id : 9209064730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H1 I ST Garg U g A g § foraa! €119 da1 7181 faa s
(1) &gl (2) fapd Ty

(3y i 4) wadl

Options :

92090618697. 1
92090618698. 2
92090618699. 3
92090618700. 4

Question Number : 76 Question Id : 9209064731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reason (R) :
Assertion (A) : Brikhand 15 a semi-soft, sweetish — sour — fermented curd.
Reasons (R) : Shrikhand contain minimum of 8.5% fat and maximum of T2 5% sugar (on

dry basis)
In the light of the above Statements, choose the correct ansawer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
() Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

{4) (A) 18 false but (R) 15 true
Options :
92090618701. 1
92090618702. 2
92090618703. 3
92090618704. 4

Question Number : 76 Question Id : 9209064731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

- g1 @A U 10 §: UF i@ (Assertion A) & &9 T fREd & O g8 3HF BHRUI (Reason R)
?Fﬂﬁ;

sfimya A - S U Sieigeman Wi @el fdfvad <8t g1
HRUIR : e H &0 A $H 8.5% 9 AR A&FH J &P 72.5% T el & (IH

YR UX)
JURIEd U & ATdld |, Aird iU 7Y fadeul & 4 99 Jugad IR &1 994 Siferg
(1)  AJRRGH Tel g dRR A DI Tl TR &
(2) AMRREH UEl ¢ ABIR A UgI AR Rl &
3) ATIEAFTIRTETRIE
(4) AWEIEIQ, AT RTE
Options :

92090618701. 1
92090618702. 2
92090618703. 3
92090618704. 4

Question Number : 77 Question Id : 9209064732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Mastitis infecting microorganisms gain entrance in mammary gland via

strealk canal.

Statement IT : A strip cup is cup with fine wire mesh is used to detect Mastitis.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3 Statement [ is correct but statement 11 ig incorrect

(4) Statement [ is incorrect but statement 11 is correct



Options :

92090618705. 1
92090618706. 2
92090618707. 3
92090618708. 4

Question Number : 77 Question Id : 9209064732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g P R T &
HU | . ARSI & HehHUI dTel Y& Sifd ¥idh Al g1 ¥ Ui T Hds Wi &d g |

H2 || - HREIZICY &1 Udl @l & folt ey $U &1 391 $3d ¢ ol U $U gl HelH dRil &
EIGEal

Juiad YA & ais |, A fou U fdee! A § 98t Swve1 9a9 Sifeg

(1) SFISRNSHI TS
(2)  ®YF| SRS S g
(3) YT FA g, AT HY 1l T 8
(4)  HY| HEA g, AP T I A B

e

Options :

92090618705. 1
92090618706. 2
92090618707. 3
92090618708. 4

Question Number : 78 Question Id : 9209064733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cow milk proteinsis _ as compared to buffalo milk proteins.
{A)  High digestibility and high biological value

(B) High digestibility and low biological value

(C)  How digestibility and low biological value

(D)  Low digestibility and high biclogical value

Choose the correct answer from the options given below :

(1) (A)only (2) (B)only
(3 (C) and (D) only (4) (A) & (B) only
Options :

92090618709. 1
92090618710. 2
92090618711. 3
92090618712. 4

Question Number : 78 Question Id : 9209064733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T U P U, I FUDI W Folanpad gt gl
() Sy SR 3= Sids J

@) SHfaua-ig 3R g Sfds g

© g ueE oR Y Sfds gw

o) e uey oIk 9= wifaw g

e fau o fawed & § 9l IR &1 994 Sifo -

(1)  ad (A)
(2) ad (B)
(3) Fad () R (D)
(4)  had (A) AR (B)

Options :

92090618709. 1
92090618710. 2
92090618711. 3
92090618712. 4



Question Number : 79 Question Id : 9209064734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT :

List I List 11
(A) Method to compute fat crystallization (I) Heat
in cow milk destruction of
(B) Source of infection in milk (I} Casein and Casein products
(C) Dairy product imported by U.S.A. for (III) & months
largest dollar value

(D) Properly processed UHT milk can be (IV) NMR

stored for

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I), (C)-(IT), (D)-(I1T)
(2) {A)-(T), (B)-(11), (C)-(11I), (I)-(IV})
(3) (A)-(IT), (B)-(III), (C)-(IV), (D)-(D)
4y (A)-ID), (B)-(@IV), (C)-(I), (D)-(II)

Options :

92090618713. 1
92090618714. 2
92090618715. 3
92090618716. 4

Question Number : 79 Question Id : 9209064734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & | g1 &1 e S

gal-| Tt -l
W) TH & g¥ H qElihead Bl () GO
Ui Uule!

(B) GY H HehHUI AP HX- BT HId (any S R HHH I

(€ 99 HYF SR & g 9 9gad () 6 HgiA
U O] G AETd fbdr T
SR IdIG

(D) Oivd tiid I g ua i gy (Iv) TIUH IR
B USRI T 1Y

4 feu o fawedt & & wEl SO %1 994 i

(1 (A)-(IV), (B)-(1ID), (C)-(11), (D)-(D)
(2 (A)-(D), (BY-(ID), (C)-(1), (D)-(IV)
(3 (A}-(l), (B)-(1), (C)-(IV), (D)-()
(4) (A, (B)-(IV), (C)-(1), (D)-()

Options :

92090618713. 1
92090618714. 2
92090618715. 3
92090618716. 4

L

Question Number : 80 Question Id : 9209064735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cow can be hest judged when she is :

(1) dry (2) has just calved
(3) in full milk production (4) 5 yearsold
Options :

92090618717. 1
92090618718. 2
92090618719. 3
92090618720. 4

Question Number : 80 Question Id : 9209064735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MY $1 300 UG &1 off Yol ¢ oid 98

1 sEE @ 3ui-en g8 e & wHiedr gl
(3) Ui g™ Jcred B @1 8 (4) UETH BT
Options :

92090618717. 1
92090618718. 2
92090618719. 3
92090618720. 4

Question Number : 81 Question Id : 9209064736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For maximum intake of caleium, one should consume :

(1) Whole milk (2) 2% milk
(3) 1% milk (4) skin milk
Options :

92090618721. 1
92090618722. 2
92090618723. 3
92090618724. 4

Question Number : 81 Question Id : 9209064736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$ITgH & I=dH AT & (o1 IUGRT HEAT 91fgu|

() EqUigy @ 2%gY
3)  1%gH (4) @I
Options :

92090618721. 1
92090618722. 2
92090618723. 3
92090618724. 4

Question Number : 82 Question Id : 9209064737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The reason for agitator in milk silo 15 :

(1) Prevent cream separation (2) Prevent spoilage
(3) Prevent leakage (4) Prevent off taste

Options :

92090618725. 1
92090618726. 2
92090618727. 3
92090618728. 4

Question Number : 82 Question Id : 9209064737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rl § fadiss U SRUA Sl 8 -

(1) AP gY® g I AP & e (2) T A AHA & forw
(3) eRU AT F forg (4) SR @R ¥ a1y & fie

Options :

92090618725. 1
92090618726. 2
92090618727. 3
92090618728. 4

Question Number : 83 Question Id : 9209064738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fever is caused by :

(1) Coxiella burnetti (2) Salmonella paratyphi
(3) Pseudomonas aureoginosa (4) Morexella bous
Options :

92090618729. 1
92090618730. 2
92090618731. 3
92090618732. 4



Question Number : 83 Question Id : 9209064738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR BT PRI G :

(1) DIfFUe aRAfE 2 AEHA WRIeEis
(3) SN SR 4) AP dIfgg
Options :

92090618729. 1
92090618730. 2
92090618731. 3
92090618732. 4

Question Number : 84 Question Id : 9209064739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FBA stands for :

(1) Farm Service Agency (2) Farm Study Agency
(3) Farm Sales Agency (4) Farm safety Agency
Options :

92090618733. 1
92090618734. 2
92090618735. 3
92090618736. 4

Question Number : 84 Question Id : 9209064739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG C(FBA) B AHG -

(1) B Wi o= 2) BTH wS! Tel
(3) i O e 4) BTH U vt
Options :

92090618733. 1
92090618734. 2
92090618735. 3
92090618736. 4



Question Number : 85 Question Id : 9209064740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Aszsertion (A) : A minimum fat level of 4% in cow milk and 5% buffalo milk is necessary to

obtain good quality of khoa.

Reasons (R) : Normal wyield of Khoa 17% to 19% from cow milk and 21% to 23% from
buffalo millk.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is falze

(1) (A) is falze but (R) is true

Options :

92090618737. 1
92090618738. 2
92090618739. 3
92090618740. 4

Question Number : 85 Question Id : 9209064740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 2 HuA [GU L §: 0P iU (Assertion A) & w0 H fafgad § o g8 UG SR (Reason R)
'EFFEIﬁ;

sfiEpyA - IOH UGl &1 @I W H3 & (¢ 9 & g8 H grad 4% 3R 79 & gud
5% T HI TR HEGS ¢

BRUIR : T & gH I 17 T 19% 3R 9 & g ¥ 21-23% BT GHId: U gidl ¢
JUIE Y & 3T H, A f3U Y fdeedl H 9 gad Iugead It &1 90 Sy

(1) A SRRSO € SRR, AT W BT ¢

2) A RREH GE € AHTR A B wE TEn AE

3) AGEE AfFTIREETE

4 ATETEE AFTREAR

Options :

92090618737. 1

92090618738. 2

92090618739. 3
92090618740. 4

Question Number : 86 Question Id : 9209064741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement I : Lactose present in milk stimulates the growth of small plants.

Statement 11 : Lactose iz obtained from plants.

In the hight of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement [ is correct but statement I 15 incorrect
(4) Statement [ 15 inecorrect but statement I1 12 correct
Options :

92090618741. 1
92090618742. 2
92090618743. 3
92090618744. 4



Question Number : 86 Question Id : 9209064741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Py Ry g

FuF | : gY W IR daei Bie Tiedl #1 gfe &1 Iid Har gl
HUF || : W] UIgUl | WK grdl g

IR YA & el H, - 13U 71U faswedt 8 O 9l I 9a- Difey
FY | AR NS T ®

i1

)
(2)  HYTI AR NEH 3T
(3) YA I I g, dfch YA Il 3T ¢
(4) HYFIITIE AFTPUT T e
Options :

92090618741. 1
92090618742. 2
92090618743. 3
92090618744. 4

Question Number : 87 Question Id : 9209064742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First vaccination of Ranikhet diseases is done at the age of :

(1) 1 day (2) 1 week
(3) 6 days (4) 12 days
Options :

92090618745. 1
92090618746. 2
92090618747. 3
92090618748. 4

Question Number : 87 Question Id : 9209064742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TFRET AR & foTT ug el T &d &t SH & -

(1 17 (2) 18U
3 6faA @ 12f=
Options :

92090618745. 1
92090618746. 2
92090618747. 3
92090618748. 4

Question Number : 88 Question Id : 9209064743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most variable constituent of milk is -

(1) Protein (2) Fat
(3} Lactose i4) DMinerals
Options :

92090618749. 1
92090618750. 2
92090618751. 3
92090618752. 4

Question Number : 88 Question Id : 9209064743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G &1 9 it uRadf ged § -

(1 urdH 2) aH|
(3) ae™ @ Jd
Options :

92090618749. 1
92090618750. 2
92090618751. 3
92090618752. 4

Question Number : 89 Question Id : 9209064744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The equipment used for chilling of milk in dairy :

(1) Refrigerator (2) Freezer

(1] Dry ice (4) Plate Heat Exchanger

Options :

92090618753. 1
92090618754. 2
92090618755. 3
92090618756. 4

Question Number : 89 Question Id : 9209064744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 H gy & gaiiad & T Iuan fean e 9ren Iy -

(1)  ThoReR 2) W
3) Ih/gE % (4) UfgH S A ms

Options :

92090618753. 1
92090618754. 2
92090618755. 3
92090618756. 4

Question Number : 90 Question Id : 9209064745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is known as milk sugar?

(1) Lactose (2) Lactic acid

(3 Glucose (4) Galactose

Options :

92090618757. 1
92090618758. 2
92090618759. 3
92090618760. 4



Question Number : 90 Question Id : 9209064745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fod g% SIh T T Wl @72

(1) e (2) dfdes o

3) B 4) TdE™
Options :

92090618757. 1
92090618758. 2
92090618759. 3
92090618760. 4

Question Number : 91 Question Id : 9209064746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coagulated product obtamned from pasteurized or boiled stadardized milk by lactic
fermentation is :

(1) Shrikhand (2)  Yoghurt
(3 Channa (4) Lassi
Options :

92090618761. 1
92090618762. 2
92090618763. 3
92090618764. 4

Question Number : 91 Question Id : 9209064746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AT e g AHSBIDd gY 1 dlfdees fhva § Ui whied Iaig ;

1y dEs (2) Thge
@) o @) et
Options :

92090618761. 1
92090618762. 2
92090618763. 3



92090618764. 4

Question Number : 92 Question Id : 9209064747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (4A) ; Mastitis is caused by bacteria live on the skin of the leaf and inside the
udder.

Reasons (R) : Mastitis increases the milk production and increases the sale proceeds for
milk.

In the light of the above Statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is not false

(4) (A) is falze but (R) is true

Options :

92090618765. 1
92090618766. 2
92090618767. 3
92090618768. 4

Question Number : 92 Question Id : 9209064747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁa‘r?ﬁﬁu U §: U TUHYA (Assertion A) & &0 T fARGd ¢ d GER1 39® PR (Reason R)
®OH

APy A . TARETSe 3 SHamsfl R Eldl & off 9g& &1 ddl 3R ¥4 & 3 I8d o
HRUIR: UReTEfed g4 IdTeH daldl & 3R g8 9§ U fab! 3 &t 9fg &ar g1
IR YA & Hdld §, e AU 70 fased! T 9 9ad Iugad I &1 949 Bifey

) AMRRIHF G E AR R, A DI UL ARSA ©
) AR REH Ol 8, AP R, A DI gl IS TR &
3 ATIE IfFTIRISTAE
) AEEITE € Al R UG €



Options :

92090618765. 1
92090618766. 2
92090618767. 3
92090618768. 4

Question Number : 93 Question Id : 9209064748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Clarification of milk is carried out by straining process.

Statement 11 : Clarification is also known as filteration.

In the light of the above Statements, choose the most appropriate anawer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement [ 15 correct but statement II 15 incorrect
(4) Statement I 15 incorrect but statement IT is correct

Options :

92090618769. 1
92090618770. 2
92090618771. 3
92090618772. 4

Question Number : 93 Question Id : 9209064748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FEfumE

HYT| ;. gY &I e B ulhar ¥ fear S gl

& |1 - e &1 feaeq ot Fgronar 21
JRIE FYA & s |, i 3 70 fAwet § 8w S 999 Sifan

(1) &Y MRS T 8

(2)  FYTIHRISH A ®

(3) Y| TA g, A T Il 3 ¢
(4) BY| SEA T, A T 1 A B

Options :

92090618769. 1
92090618770. 2
92090618771. 3
92090618772. 4

Question Number : 94 Question Id : 9209064749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concentrated whole milk product 1s :

(1) Khoa (2) (Channa
(3) lee-cream (4) Shrikhand
Options :

92090618773. 1
92090618774. 2
92090618775. 3
92090618776. 4

Question Number : 94 Question Id : 9209064749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) e @ o
(3)  3ZH-HH @) HEs
Options :

92090618773. 1



92090618774. 2
92090618775. 3
92090618776. 4

Question Number : 95 Question Id : 9209064750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plate count for pasteurized milk should not exceed per mlL
(1) 30,000 (2) 50,000
(3) 1 lakh (4) 2lakh

Options :

92090618777. 1
92090618778. 2
92090618779. 3
92090618780. 4

Question Number : 95 Question Id : 9209064750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URERIgd g I &ie M1 Ui mi F 3ffgp 81 gt =gy
(1 30,000 (2) 50,000

(3) 199 (4) 2mdE
Options :

92090618777. 1
92090618778. 2
92090618779. 3
92090618780. 4

Question Number : 96 Question Id : 9209064751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A) : Clot on boiling (COB) test is followed to check heat stability of milk.

Reasons (R) : Organoleptic test 18 used to check colour, flavour and taste of milk.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3 {A) 18 true but (R) 1s false

(4) (A) 18 falze but (R) is true

Options :

92090618781. 1
92090618782. 2
92090618783. 3
92090618784. 4

Question Number : 96 Question Id : 9209064751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i &1 Hy= fGu 1T € Ud iR YA (Assertion A) & ®Y T fafGd § A g8Y FHS BRI (Reason R)
ﬁ?ﬂlﬁ;

iy A . FEEA W YT (@ off o) odlamn &1 gy & e RRa1 31 §ig & fau
SR T STt B

BRUR: a‘ﬁﬁ;@%uﬂmmm@%hm&hmﬁﬁa%mﬁm
EisIE]

JWRIad YA & ATdlD H, A U 70 fadedi & 4 969 Iugad IR &1 994 Biferg

(1) A3RRIH GEIE AR R A DI Tel WA &
(2) AJRRIHE TP E AFAR AP T B AE ¢
3) ATIE IRFARTHTTE
(4 AU Telg, AfbIRAT &
Options :
92090618781. 1
92090618782. 2

92090618783. 3
92090618784. 4



Question Number : 97 Question Id : 9209064752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement I : The manufacture of cheese was not developed in India.
Statement I1 : The flavour and test of cheese depend upon on microorganism used for
processing.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement [ is correct but statement 11 is incorrect

(4) Statement [ is incorrect but statement I1 is correct
Options :

92090618785. 1
92090618786. 2
92090618787. 3
92090618788. 4

Question Number : 97 Question Id : 9209064752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i g1 HyA Gu T E:
T | - el DI JdIG YUITelt &1 WIRd H =81 fasRia faear man)
HU || ; i 1 Yard 3R ¥d1E A Sitd ol UshHul & e IuaiT # arn 8, &R AR &var g
IR B & Al H, 14 fau e faeedt d 3§ 981 It 9ud Sifog

(1)  ®HIARNEHI OO E
(2) B SR SHT ST §
(3) HYF | T g, Wi BY 1| A §
(4) U A g, b HYU 11 T

Options :



92090618785. 1
92090618786. 2
92090618787. 3
92090618788. 4

Question Number : 98 Question Id : 9209064753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milk lost its colostral properties became normal within hours after calvingg.
(1) 72 (2) 48
(3) 24 (4) 30

Options :

92090618789. 1
92090618790. 2
92090618791. 3
92090618792. 4

Question Number : 98 Question Id : 9209064753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CESETED He 915 g oras! Sidnga [aSvand g 81 Wikl ¢, §H=d g1 9di g

(1) 72 (2) 48
(3) 24 (4 30
Options :

92090618789. 1
92090618790. 2
92090618791. 3
92090618792. 4

Question Number : 99 Question Id : 9209064754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given helow are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as
Reaszon (R) :

Assertion (A):  Operation flood was launched on 1% July 1970 during fourth five year plan.

Reaszons (R) : Operation flood was world's largest dairy development programme,

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 18 correct but (I) 15 not correct

(4) {A) 18 not correct but (R) 1s correct

Options :

92090618793. 1
92090618794. 2
92090618795. 3
92090618796. 4

Question Number : 99 Question Id : 9209064754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g1 HuA U 10 §: UF MY (Assertion A) F ¥4 T [af@d § o gHY 3P BRI (Reason R)
$F‘Jﬂ;

Afifpe A ;SR e BT RY 1 Jars 1970 & 9t 4= avffa giem & SR g oIl
FRUR: HIRIH FeiS 3y &1 el 981 S8 [ddry Srehy |
IR $YA & HAdl$ §, i AU 70 fahedl T F 94 I9gad I &1 9494 Hifeg

(1) ARRIFTEIE ARR AT IS AT ©

(2)  ASRREH Tl E, fFT R AT OEl IR TG
(3) AHEIE A REE T §

(4) AGETEIE AfPTIRILE

Options :

92090618793. 1
92090618794. 2
92090618795. 3
92090618796. 4



Question Number : 100 Question Id : 9209064755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The butter milk denotes the fluid product obtained from the process of
churning cream into butter.

Statement 11 : In churning of sweet cream, the butter milk obtained is called aweet cream

butter milk used in the form of drinks.

In the Light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement 1 and Statement 11 are correct

(2) Both Statement 1 and Statement 11 are incorrect
(3) Statement [ 15 correct but statement I1 15 incorrect
(4) Statement I 15 incorrect but statement 11 15 correct

Options :

92090618797. 1
92090618798. 2
92090618799. 3
92090618800. 4

Question Number : 100 Question Id : 9209064755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e s lGu g &:
HUT | - FelHoP UP i UG & Sl 1A HI HaGH 911 & HAlSd UhH I U aral g

FU |1 : HERP DIF & 3MAIST U UId SRfHed HLREHHIH X Hedh Hedmdl ¢ 3R B
SN T & YA gl gl

I HUA & ATdiD H, A fGu U [admet & 3 I8 Iead1 994 i

1) FYFIARNTAITIE

2)  BYTI IR AT

3)  HYF | A g, A BYA 11 3 §
4)  HYF| 3Fd g, b BT 11 T ©

L

(
(
(
(

Options :



92090618797. 1
92090618798. 2
92090618799. 3
92090618800. 4



